INSTRUCTION SHEET

PEKWM
Pyramid Equipment Support Wall Mount

ot | Qetion & ?ﬂ%?rm? Qption #2 m‘[’rwr';‘]g D1 (in)[mm] | W1 (in)imm] | W2 (in)imm] | *Static Load Rating Ibs (N)

7 1/2[190] MIN | 19[480] MIN | 1 5/8[40] MIN
PEKWM 24 1610] 16 [405] 17 1/2440] MAX | 38 1/8[970] MAX|  3.5[90] MAX 600 (2.670)

*Factor of Safety - 3:1

Hardware Included Quantity

Bubble Level

5/16" x 3" Wood Screw

5/16"x 1 3/4" Long Concrete Anchor

Rubber Cushioning Washer

5/16" Steel Washer

3/8" Steel Washer

3/8-16 x 3 1/2" Long Carriage Bolt

Al MOV M| O~ |ON|—

3/8-16 Lock Nut

: Outside mounting holes
Installation Steps Option #1 (M1)
Install (2) Upper Fasteners:

Magnetic Level Included

#1 #2

#3 Finish installing all fasteners:
(6) Total

. Concrete Fastener:
Drill Pilot Hole = 1/2"x 1 3/4" Deep

: Woo"d Fos’rener: Inside mounting holes
3/16" Pilot Hole Option #2 (M2)

. 16 Inch Mounting and remaining P

fasteners see step #3

Note: Allloads are for static conditions and do not account for dynamic loading such as wind, water or seismic loads, unless otherwise noted

The customer is responsible for:

a. Conformance to all governing codes.
b. The intergrity of the structure to which the product is attached, including their capability of safely accepting the loads imposed, as
evaluated by a qualified engineer.
C. Using appropriate industry standard hardware
WARNING:

1. nVent products shall be installed and used only as indicated in nVent product instruction sheets and training materials. Instruction sheets are available at www.nVent.com and
from your nVent customer service representative.

nVent products must never be used for a purpose other than the purpose for which they were designed or in a manner that exceeds specified load ratings.

All instructions must be completely followed to ensure proper and safe installation and performance.

Improper installation, misuse, misapplication or other failure to completely follow nVent's instructions and warnings may cause product malfunction, property damage, serious
bodily injury and/or death, and void your warranty.

Products that are manufactured using spring steel components shall be used only in a non-corrosive indoor environment.

All pipe supports, hangers, intermediate components and structural attachments must ONLY be used as described herein and are NEVER to be used for any other purpose.

oo oM

NOTE: All load ratings are for static conditions and do not account for dynamic loading such as wind, water or seismic loads, unless otherwise noted.

The customer is responsible for:

a. Conformance to all governing codes.

b. The integrity of structures to which the products are attached, including their capability of safely accepting the loads imposed, as evaluated by a qualified engineer.
c. Using appropriate industry standard hardware as noted above.

SAFETY INSTRUCTIONS:

All governing codes and regulations and those required by the job site must be observed.
Always use appropriate safety equipment such as eye protection, hard hat, and gloves as appropriate to the application.

‘ nVent, nVent CADDY, nVent ERICO, nVent GARDNER BENDER, nVent ILSCO, nVent KING INNOVATION, and nVent LENTON are owned by nVent or its
V7 global affiliates. All other trademarks are the property of their respective owners. nVent reserves the right to change specifications without prior notice.

\/ y t TECHNICAL SUPPORT:
nven www.nVent.com 89251532_A 10F2 © 2025 nVent All Rights Reserved




INSTRUCTION SHEET

#4 Insert Arms

Option #1
1) Insert arms at angle
2) Drop in place

Option #2
1) Insert arms between bars
2) Rotate arms into position

If equipment height allows, can install arms to
equipment and then complete this installation.

#5

1) Slide arms to correct position for equipment
2) Install equipment (fasteners included)
3) Tighten fasteners

\ nVent, nVent CADDY, nVent ERICO, nVent GARDNER BENDER, nVent ILSCO, nVent KING INNOVATION, and nVent LENTON are owned by nVent or its
N Y4 global affiliates. All other trademarks are the property of their respective owners. nVent reserves the right to change specifications without prior notice.

\7 y t TECHNICAL SUPPORT:
nven www.nVent.com 89251532_A 20F2 © 2025 nVent All Rights Reserved




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Detail View  (1 : 6)
	Drawing View11
	Detail View A (1 : 6)

	Sheet2
	Drawing View7
	Drawing View8
	Drawing View9


